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COMMERCE
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

The present regime of subsidies can

be improved by focussing on

(1) Reducing the overall scale of

subsidies.
(i) Making subsidies as
transparent as possible.

(i) Giving a specific amount to the
Member of Parliament for

subsidies.

(iv) Setting clear limits on duration
of any new subsidy scheme.

(v) Eliminating system of periodic
review of subsidies

(vi) Using subsidies for well-

defined economic objectives.
Codes :
(A) (1), (i1), (iii) and (iv)
(B) (i), (iii), (iv) and (v)
(©) (1), (iii), (iv) and (vi)
(D) (1), (i1), (iv) and (vi)

Which of the following is not
regulated by The Competition Act,
2002 ?

(A) Abuse of dominant position
(B) Anti-competitive agreements
(C) Medical negligence

(D) Predatory pricing

Paper-111

The freedom of private enterprise is

the greatest in the free market

economy. This is characterized by
which of the following assumptions ?

(i) The factors of production
(labour, land, capital) are
privately owned and production
occurs at the initiative of the
private enterprise.

(1) Income is received in monetary
form by the sale of services of
the factors of production and
from the profits of the private
enterprise.

(i11) Members of the free market
economy have freedom of
choice in so far as consumption,
occupation, savings and
investments are concerned.

(iv) The free market economy is not
planned, controlled or
regulated by the government.

(v) The free market economy is
prone to corrupt practices.

Codes :

(A) (1), (i1) and (iii)

(B) (i), (i1), (ii1) and (iv)

(C) (1), (i1), (iii), (iv) and (v)

(D) (i), (ii1), (iv) and (v)

The important responsibilities of a

business to the customers are

(1) To ensure family welfare of the
customers.

(11) To understand customer needs
and to take the necessary
measures to satisfy these needs.

(ii1)) To ensure health condition of
the customers.

(iv) To ensure that the product
supplied has no adverse effect
on the customer.

(v) To provide an opportunity for
being heard and to redress
genuine grievances.

Codes :

(A) (1), (1), (iii), (iv) and (V)

(B) (1), (i1), (iii) and (iv)

(C) (i), (iv) and (v)

(D) (i), (ii1), (iv) and (v)
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The rationale of expanding role of 8.  If bonus shares are issued out of pre-
the public sector stems mainly from acquisition profit, it will have
which of the following factors ? (A) Direct effect on the
(1)  The failure of the private sector Consolidated Balance Sheet
in certain crucial areas (B) No effect on the Consolidated
(i1) The exploitation of the society Balance Sheet
by the private sector (C) No effect on Net Profit
(i11)) The revenue need of the (D) None of the above
Central Government
(iv) The demand of economic 9. The present value of the future
justice contributions of employees is one of
(v)  The need for accelerating the the methods of
pace of economic growth (A) HR Accounting
Codes : (B) Inflation Accounting
(A) (1), (i1), (ii1) and (iv) (C) Social Accounting
(B) (1), (ii1), (iv) and (v) (D) Responsibility Accounting
(C) (), (iid), (iv) and (v)
(D) (1), (1), (iv) and (V) 10. A standard which can be attained
Which of the following factors may under the most favourable working
lead to a sick industrial unit ? COIldlthIlS‘IS called
(i) Shortage of funds and faulty (A)  Attainable Standard
financial management (B)  Basic Standard
(ii) Investment by the FIIs in (C)  Current Standard
Indian industries (D)  Ideal Standard
(it glgigtﬁ(;rslzed FDIL in Indian 11. Which of the following ratios are
(iv) Lack of experience on the part taken into consideration by a banker
of promoters before sanc‘Fioning thg loan ?
(v) Technological factors including (A)  Proprietory Ratio )
obsolete or improper technology (B)  Stock-Turnover Ratio
Codes : (C) Debt-Equity Ratio
(A) (1), (11), (111) and (IV) (D) All of the above
(B) (i), (iii), (iv) and (v)
(©) (), (iv) and (v) 12. Match the items of the following two
(D) (1), (ii) and (ii1) lists :
. . . List — 1 List — 11
Indicate what is not correct in respect .
of the Consumer Protection Act, (i) Zero-basc (@) Internal
1986. ) Budgetl.ng Recqnstruchon
(A) No complaint can  be (11) Goqdwﬂl or (b) Earnings Per
entertained in respect of a Capltal.Reserve Share
product purchased more than 2 (ii1) Redgctlon of © Control' of
years back. . Cap}tal Expgndlture
(B) A complaint against medical (iv) Basic & (d) Business
negligence can be filed by legal Diluted Combination
heir or representative of the Codes S
deceased. () () (i) (iv)
(C) A complaint involving a claim (A) (€ (d) () (a)
of ¥ 15 lakhs is to be filed (B) (d) () (a) (b)
before the State Commission. (€) (d) (@ () (b)
(D) Both (A) and (C) (D) (¢) () (a) (b)
Paper-111 4 D-08-13
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13.

14.

15.

Assertion (A) : Dividend paid out
of pre-acquisition profit by the
subsidiary company to the
holding company is deducted
from the cost of investment.

Reason (R) : Dividend paid out
of pre-acquisition profit by the
subsidiary company should be
treated as a return of capital to
the holding company.

Which one of the following is correct ?

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is wrong.

(C) (A)is wrong, but (R) is correct.

(D) Both (A) and (R) are wrong.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Increasing the value
of closing inventory increases
profit.

Reason (R) : Increasing the value
of closing inventory reduces
cost of goods sold.

In the context of the above two

statements, which of the following is

correct ?

Codes :

(A) Both (A) and (R) are correct.

(B) Only (A) is correct.

(C) Only (R) is correct.

(D) Both (A) and (R) are wrong.

Match the items of List — I with the

items of List — II and select the

correct code for the answer :

List— 1 List — 11

(a) Multiple (i) MRP; = MC =
plants MRP, = MRP,,,

(b) Cost-plus (i1) MRT = MC =
pricing MR, =MR,

(c) Multiple (i) MR = MC; =
markets MC, = MCy

(d) Multiple (iv) P=(1 + m) ATC
products

Codes :

(@ (O (0 (@)
(A) (iv) @G (@) (i)
B) (1) (i) (@iv) (i)
(© () () (i) (iv)
(D) @i (v) (i) (@
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16.

17.

18.

19.

20.

A measure of the responsiveness of

quantity demanded to changes in the

price of a related good is known as

(A) Cross Elasticity of Demand

(B) Substitution  Elasticity  of
Demand

(C) Complementary Elasticity of
Demand

(D) Price Elasticity of Demand

If the total cost is ¥ 260 and the total
variable cost is ¥ 60, what will be
total fixed cost if output is (a) 100
units and (b) 200 units ?

(A) %200 and? 200

(B) 100 and X 200

(C) %260andX 100

(D) %160 andX 100

Optimal input combination to

minimize the cost for a given output

will be at the point where :

(A) Isocost is tangent to Isoquant

(B) MRTS between inputs is equal

(C) Any movement from optimum
point will lead to low level of
output

(D) All the above conditions are
fulfilled.

What kinds of actions can be taken to
put the rivals at a disadvantageous
position under oligopoly market ?
(A) Commitments

(B) Threats

(C) Promises

(D) All the above

There is no exceptions to the law of
demand in the case of
(A) Giffen goods
(B) Normal goods
(C) Articles of
consumption
(D) Ignorance of the buyer

conspicuous

D-08-13



13.

14.

15.
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A) (v) () () (i
®) () (i) (v) (i)
© (i) @) (i) (v)
(D) (i) (v) @) ()
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21.

22.

23.

24.

What is the degree of elasticity of
demand in case the demand is
represented by a straight line parallel
to the x-axis ?

(A) e>1
B) e=0
(C) e=cx
(D) e<l

If a chi-square test is to be performed
on a contingency table with 3 rows
and 4 columns, how many degrees of
freedom should be used ?

(A) 6
(B) 12
© 8
D) 9

Assertion (A) : If regression co-
efficient of X on Y is greater
than one, regression co-
efficient of Y on X must be less
than one.

Reason (R) : The geometric
mean between two regression
coefficients is the co-efficient
of correlation.

On the basis of the above, choose the

appropriate answer :

(A) (A) and (R) are correct.

(B) (A) is correct, but (R) is not

correct.

(C) (A) is not correct, but (R) is
correct.

(D) Both (A) and (R) are not
correct.

If the sum of squares of deviations
within samples i1s 140 with 12
degrees of freedom and the sum of
squares of deviations between
samples is 190 with 2 degrees of
freedom, the test statistic will be

(A) 81.4
(B) 12.28
(C) 8.14
(D) 1.22

Paper-I111

25.

26.

27.

28.

The regression equation of profits (X)
on sales (Y) of a firm is given as :
3Y - 5X + 110 = 0. If the sales of the
firm is ¥ 44,000, the profit will be
(A) 23,370 (B) X 26,422
(C) 24422 (D) 21,370

Cricketer ‘A’ scores on an average
40 runs with a standard deviation of
5. Scores of players ‘B’ and ‘C’, on
an average, are 75 and 90 with
standard deviations 10 and 18
respectively. Arrange the players in
the descending order of consistency :

(A) A,BandC
(B) C,Band A
(C) B,AandC
(D) C,AandB

Among the following, choose the
most suitable ‘test’ that can be
applied to examine the influence of
one factor on different groups :

(A) ‘t’ test

(B) °F’ test

(C) ‘Chi-square’ test

(D) None of the above

A machine produced 20 defective

articles in a batch of 400. After

overhauling, it produced 10%

defectives in a batch of 300. Which

test of hypothesis can be applied to
the above situation to examine
whether the machine has improved ?

(A) Test of significance of a sample
proportion (two-tail test)

(B) Test of significance of a sample
proportion (one-tail test)

(C) Test of significance of
difference between two sample
proportion (two-tail test)

(D) Test of significance of
difference between two sample
proportion (one-tail test)

D-08-13
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22.

23.

24,
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(D) 122
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(B) 26,422

(C) T 24422

(D) % 21,370
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(A) A, B3RC

(B) C,B A

(C) B, A3RC

(D) C,A3RB

frafafed & o waitus  Suge
QeI T Y A R e Il W
Teh R & UHTE Hl W HH & fo1d
TR fehaT ST bl €

(A)  “t TRIETOT

(B) ‘F’ UdteIor

(C) “PE-TREI TR0

(D) S | | i Tl

TH TR 7 400 H A § 20 FO0T
FTE IO H | T I F AR,
IE 300 H A F 10% ST TEE
3O H | TR S & o TR weie
Qe TE ¥ Suge fefa § ufteenn @5
I AT TR0 TR TR ST HehelT & 2

(A) WiaRe U (F-ges W) #it

TR T RIET0T

(B) Wisel SFuTel (Tsh-T= TIefon) Hi
HIehdl T TI&T0T

(C) Tt wfasel 3 (f5-g= wrieto)
& S 3T I Gk T qeToT

(D) 31 Hieet S (Th-Te5 e
% o9 3 I Gk BT gL
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29.

30.

31.

32.

33.

Strategies and policies

(A) are not closely related

(B) give direction

(C) are the framework  for
performance appraisal

(D) both (A) and (B)

According to Vroom’s Expectancy

Theory of Motivation,

(A) Force = valence divided by
expectancy

(B) Force = valence x expectancy

(C) Force = strength of an
individual preference for an
outcome

(D) Valence = probability that a
particular action shall lead to a
desired outcome

In the managerial grid, the managers
who have little or no concern for
production but are concerned only
for people are known as what type of
managers ?

(A) 1.1 Management

(B) 5.5 Management

(C) 9.1 Management

(D) 1.9 Management

According to the Boston Consulting
group, a business, which has a strong
market share in a low growth
industry is referred to as a

(A) Dog
(B) Cash Cow
(C) Star

(D) Question mark

Which of the following are major

principles of leading ?

(1)  Principle of motivation

(i1)  Principle of continuous
development

(iii)) Principle of harmony of
objectives

(iv) Principle of open competition

(v) Principle of communication
clarity

Select the correct answer from the

codes given below :

Codes :

(A) (i), (i), (i), (v)

B) (). i), iii), (iv), (v)

(C) (1), (iid), (iv), (V)

D) (), (iii), (v)

Paper-111
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34.

3s.

36.

37.

The following are the steps of

management control process :

(1) Taking corrective action from
standards

(i) Establishing standards

(iii) Measuring actual performance

(iv) Comparing performance
against standard

Select the correct sequence of these

steps from the codes given below :

Codes :

(A) (@), (i), (iii), (iv)

(B) (i), (iii), (iv), (1)

(C) (i), (iv), (1), (ii)

(D) (i), (iv), (©), (iid)

Consider the following :

(1) Planning is today’s action for
tomorrow’s decision.

(i) Planning is forward looking

while controlling is looking

back.

Motivation is about getting

voluntary  willingness  of

subordinates for action.

Line and staff organisation is

the oldest form of organisation.

Select the correct statements from the

codes given below :

Codes :

(A) (i1) and (iii) are correct.

(B) (i), (i1) and (iv) are correct.

(C) (1), (i11) and (iv) are correct

(D) All are correct.

(iii)

(iv)

Which is not one of the stages in the
consumer buying-decision process ?
(A) Purchase decision

(B) Post-purchase behaviour

(C) Problem recognition

(D) Cultural factors

At which stage of product-life-cycle

are the pricing decisions most
complex ?
(A) Decline
(B) Growth
(C) Introduction
(D) Maturity
D-08-13



29.

30.

31.

32.

33.

SR T AT

(A) IHE Y I Gatad 7@ el ¢ |
(B) feomfeersdie |

(C) e Foaes godais & o g g |
(D) (A) 3R (B) I € |

T & ANTROT & TEmn HEr %

AR
(A) oot = Ueamem gRT foniiora amed
(B) T = |Me X Weamen

(C) &1 = gom & ford ueh Aot bt
ERERIEEIRIIE)

T = FE AT 6 T oy
har sfesq oo & % o
SR

TIHE e § 39 USSR
THR SART 9 9 I 7 8 [Gh
FfTar 9 &, ol 59 UhR & U &
TE ST AT € 2
(A) 1.1 99
(C) 9.1 yaH

(D)

(B) 5.5 v
(D) 1.9 7=

et I % SR T a4,
o v e foem 3T At SEn |
(A) ‘=

(B) I HIS’

C) =’

(D) <

fr=fafed 5 9 Fgc & &7 s &
R

()  SAUROT T g

(i) Gad foer o1 g

(i) SEYET T TEREAT I (G
(iv) el wiqeeT &1 fagr=

(v) TOR ot & g

e 2 el § HEl I H AT B
ETE

(A)
(B)
©
(D)

(1), (i), (iii), (v)

(1), (i), (iii), (iv), (V)
(i), (iii), (iv), (V)

(1), (iii), (v)
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34.

3s.

36.

37.

o oo

T 99107 UTehan o G efenad €

(i) w(mmaﬁ)@maﬂﬁ

(i) HH e AT

(iii) AT e &1 J19=

(iv) O & foeg Tsaea & qomr
AT

Fe ST Fd F T TWON H OGN FH

T

ETE

(A)

B)

(i), (ii), (iii), (iv)

(ii), (iii), (iv), (i)

(C) (i), (iv), (D), (ii)

D) (i), (iv), (i), (iii)

frfefad & foem ¢

(i) TFa~H, & & B & fau o
H HRAE § |

(i) TFaeE, "o & am W €

STefer fF=01 4w &l ST |

TIeATe, 3TEeY HHAE d e

%F ford Wfes® <t T & ar

e

e UUE WIH (@I Te HHeER])

e HeH QI G &9 ¢ |

T o2 el | W&t ol B TI H

A

(A) (i) R (i) WA E |

(B) (i), (ii) 3 (iv) W€ |

(€) (), (iii) 3 (iv) T E |

(D) Swg it

ST Sha-FT0Tg wfskar i steeet |
frfefaa o 9 i | U e @ € 2
(A) -

(B) HF-STIN AeN

(C) THET H e ]

(D) Hipas Teh
SIE-STeH-a5h i fhE 3Tl § Toa

froTem Tates St gan & 2
(A) =BrEEA

(B) FsAH

(C) o

(D) uRuEdT

(iif)

(iv)
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38.

39.

40.

41.

Which one is not an element of
market logistics ?

(A) Inventory

(B) Order-processing

(C) Warehousing

(D) Supply chain management

Under which legislation, the
manufacturers and distributors are
required to declare Maximum Retail

Price (MRP) on packaged
commodities ?
(A) The Bureau of Indian

Standards Act, 1986

(B) The Consumer Protection Act,
1986

(C) The Standards of Weights and
Measures Act, 1976

(D) The Essential
Act, 1955

Commodities

In modern marketing, which of the
following functions of a distribution
middleman s
importance ?

gaining maximum

(A) Making persuasive
communication

(B) Price negotiation
(C) Keeping adequate inventory

(D) Gathering market information

Which method of setting the
advertising budget of a company is
considered to be the most scientific ?

(A) All-you-can-afford method
(B) Percentage of sales method
(C) Competitive-parity method
(D) Objectives and tasks method

Paper-111
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42.

43.

44.

Match the items of List — I with those
of List — II and indicate the correct
combination from the codes given
below :

List -1 List — 1T
(1) AIDA (a) Consumer
Model behaviour
(i1) Hierarchy of (b) Marketing
effects communication
model
(1i1) Howard (c) Consumer
and Sheth buying-
model decision
process
(iv) Information (d) Advertising
search effectiveness
Codes :
() (@) () (1v)

(A) @ (b)) (© (@
B) (b) (¢ (@ (@
© b @ @ (©
D) @ @ () (O

Inability of the firm to meet its

obligations results in financial

distress which may lead to

bankruptcy  resulting into  the

following :

1. Distress sale of assets at lower
price.

2.  Legal and administrative costs
for bankruptcy.

3.  Dilution of  stakeholders’

commitment to the firm.
4.  Stretching of payments to
suppliers and creditors.
The direct costs of such financial
distress may be
(A) land4
(C) land2

(B) 2and3
(D) 3and4

Mutually exclusive projects can be
more accurately ranked as per

(A) Internal rate of return method
(B) Net Present Value Method

(C) Modified Internal Rate of
Returns Method

(D) Accounting or Average Rate of
Return Method

D-08-13



38.

39.

40.

41.

% Th IR & {ae)or o &1 Faag
TIE?

(A) T
(B) 3T Ufsha
(C) weRor

(D) YT el vare

fFa &7 & oravd fafmmarst iR
faatehl o fesames (Fhse) awgel W
SMIHAT FEH HMAT (MRP) I =0T
HEAT ST & 2

(A) TR A = SAHE, 1986
(B) SNSRI WRRUT AT, 1986

(C) YR Ud H1Y A& AT4HaH, 1976
D)

e %] ST, 1955

syt foqum d, fomor weryr &%
e & ¥ =9 @ $ siusan
e 3T Y & 9

(A)
(B) T I HETST FHAT
(C) AT Why T

(D)

HIAdIHD AR AT

SAISTI AT UehA el

ST & faSTIT S5 T 9H hl 6

fafyr =t Taifess SRi—er T9eT ST ¢ 2
(A) AR =g oy

(B) Tt o wfereTe fater

(C) uiqeqaieTeh-awar fafe

(D) 3299 TS HH fafyg
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42.

43.

44.

T — 1 TR B g - 1 W AR

7 gaferd AR A T F @ @@
= - 1 =i - 11
(i) AIDA T (a) ST
TR
RLIEED (b) T =R
TSR
Hree
(iii) TAC W WS (c) ITRT
HISA -
sk
(iv) genaEs  (d) fasm=
&
) () () (i)

(A) (@ () (¢ (@
B) (b) (© (@ (@
©) (b) (@ (@ ()
D) @ @ ( (b

TH % U SIgeal B QR FA B

BT T IR fociiE Hehe i B €

i feeforarTe w1 3T W Y Wb &,

T Frfefad & wear €,

. =9 ®ud W uRemdr #
T Tk

2. feafoamm @ wEefEs & ol
HAT T TR ST

3. faf 9R&i ® wH FH Uld
TGl I ot

4. oTqfasatsti X RO
P TR g

U foxia Gehe ot Teget T &

(A) 134 (B) 2 3R3

(C) 132 (D) 334

TRENE T G SR URGSIS
3y o= & W Ui g S AR
fepa T Teha & 2

(A) 3T=IRP YT X UG

(B) ot semM g Ui

(C) Jeityq TR Jeard ST Ugia

(D) <& AT T T 5 G5
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45. Which one of the following does not
constitute a Standalone Risk Analysis ?
(A) Simulation Analysis
(B) Break-even Analysis
(C) Corporate Risk Analysis
(D) Scenario Analysis
46. Financial leverage in a firm is
positively affected by

(A) Intensity of tangible assets
(B) Operating leverage

(C) Profitability

(D) Tax Rate

47. Which combination of the following
two statements (A) and (R) is correct ?
Assertion (A) : The IRR of a

project is the discount rate
which reduces its NPV to zero.
Reason (R) : A project is worth
accepting if the IRR exceeds
the cost of capital.
Codes :
(A) (A) isright, but (R) is wrong.
(B) Both (A) and (R) are correct.
(©) (A)is wrong, but (R) is correct.
(D) Both (A) and (R) are wrong.

48. Assertion (A) : A company should
pay minimum dividend to its

shareholders.

Reason (R) : Dividends are
heavily taxed than capital
gains.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) (A) is not correct, but (R) is
correct.

(D) (A) is correct, but (R) is wrong.

49. Dividend irrelevance hypothesis is
implied in the
(A) Traditional Model
(B) Walter Model
(C) Gordon Model
(D) M.M. Model

Paper-111
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50.

51.

52.

Which one of the following does not
serve the main objective of
performance appraisal ?

(A) Developmental uses

(B) Administrative uses

(C) Ethical and moral values

(D) Organisational objectives

Statement (I) : Job evaluation is a

technique of assessing the
worth  of each job in
comparison with others

throughout an organization.

Statement (II): Job evaluation and
job rating are one and the same
for employees’ appraisal purposes.

Codes :

(A) Statement (I) is correct, but
Statement (II) is incorrect.

(B) Statement (II) is correct, but
Statement (I) is incorrect.

(C) Both the Statements (I) and (II)
are correct.

(D) Both the Statements (I) and (II)
are incorrect.

Match the items of List — I with the

items of List — II and select the

correct answer :

List -1 List — 11
(1) Job (a) Involves conscious
Rotation efforts, to organise
tasks, duties and
responsibilities into
a unit of work to
achieve certain
objectives.
(i1) Job (b) Involves movement
Design of employees from
job to job
(ii1) Job (c) Seeks to improve
Evalua- both task efficiency
tion and human
satisfaction and
more opportunit
for indi?zlzdual Y
growth
(iv) Job (d) The formal process
Enrich- by  which the
ment relative worth of
various jobs in the
organisation is
determined for pay
purpose.
Codes
(1) (@) (@) (iv)

@ () (o
D-08-13



45. THA SREH Taveivor FEeEd § "
I T § 2
(A) STTEIIT faweryor
(B) Uu-fa=sg faetor
(C) T SiifEw foreetuo

(D) URGYY forgetsor

46. UF FH A O ST HRIcAS T I
wiferd gia &
(A) TeT gREmEt bt FEAr gR
(B) UR=TeH 3deH 51T
(C) NRIdT 5T
(D) W H T ER

47. fAfarEd 5 AT (A) T (R) B B
[T IS Tl & 2
AUFUT (A) : TRASHT N TANE

T T 9 F5T 3Y € SN 39 IH
I oI T FH b T BT
A |
FROT(R) 3 T<RE TAE S
Ot #w o @ etfuss ¥ ar
TR THHR A T |
T4
(A) (A) Wl &, W’ (R) T & |
(B) (A) 3R (R) ST W T |
(C) (A)Ted &, W] (R) W&l & |
(D) (A) 3R (R) S Toid € |

48. AMFUT(A):TH B H AW
SIIRET Bl FAGH AT AT

T |
HROT(R)  : OSITa omfi 0 qorm o
AN TX 311k R oA ST € |

T

(A) (A) 3R (R) 3T &I & |

(B) (A) 3R (R) I TToid € |
(C) (A) T & &, =g (R) T&T € |
(D) (A) T &, W (R) T ¢ |

49. I STUTETSRT TRehed T (Hied &
(A) YRERE UqEE
(B) @meeX uiqq= |
(C) e ufem= |
(D) UHUH. ufqEE §
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50. TOIRT g A SRYE A
frfafea 5 @ =9 90 T8l F=ar ¢ 2
(A) TowEHE ITAM
(B) R AN
(C) HifquRes ue Afde goot

(D) TeHAHE 3T

51. iy () : 59 goaied, T Gied
H, Yok S bl 3 Hl qerT |
11?«’16!% BT T Sl TBAD € |

At (1) : FHERI & JoAihT &
YT W @ qei aﬂr e
ST G 3 TH & I € |

T

(A) 3 (1) T &, W e
(1) T ¥ |

(B) 3 (1) @& & W
31fiTse (1) Tora € |

(C) aﬁW(I)aﬂT(H)ﬁﬂﬁ%l
(D) TR (1) 3R (1) T TeAd & |

52. 9t — 1 &l B&i A gt — 11 0 781 &

wgﬁﬁﬁaﬁaﬁrﬁﬁﬂﬁww
T B
TR -1 = — 11
() = (a) T ST T U A
% fo1d % &l T |
1, el 3T
SRSl ot Giied
FH & AT T o
gEfua € |
(i) <= (b) FHANET T TH I
T A H T
T E |
(i) = (c) I &THAT qAT S
@l A ST GERA Hf
=T 3T AT
TP & T SER
(iv) = (d) = SHTeIReE Hfehan
g FRT T
iﬂq%%ﬁ%ﬁmm
d Hed bl
P g
E T
(i) (i) (i) (iv)

(A) (@ (b) (¢) (d)
(B) (d) (c) (b) (a)
(C) () (d (b) (a)
D) ®) @ (@ (©
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53.

54.

55.

Assertion (A) : Merit rating of an
employee is the process of
evaluating  the  employees
performance on the job in terms
of the requirements of the job.

Reason (R) : Employees’ merit
rating is a technique for fair
and systematic evaluation of an
employee’s  capacities and
abilities and performance on
the specific job.

Codes :

(A) Both (A) and (R) are correct,
and (R) is the right explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is not the right
explanation of (A).

(C) Both (A) and (R) are incorrect.

(D) (R) is correct, but (A) is incorrect.

The major provisions for employees’
health and safety are contained in

(A) The Industrial Disputes Act, 1947

(B) The Factories Act, 1948

(C) The Industrial Employment
(Standing Orders) Act, 1946

(D) The Employees’ Compensation

Act, 1923

Indicate your choice through the codes

given below :

1. A club is an industry under the
Industrial Disputes Act, 1947

2. Factory as defined under the
Factories Act, 1948 includes a
mine.

3. For purpose of the payment of
bonus to employees, the gross
profits earned by a bank is to be
calculated in the manner specified
in Schedule — I of the Payment of
the Bonus Act, 1965.

4.  Various labour laws do not apply
to public sector undertakings.

Codes :

(A) While 1 and 2 are correct, others
are not.

(B) All the statements are correct.

(C) Only 1 is correct, others are
incorrect.

(D) Only 1 is incorrect, all others are
correct.
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56.

57.

58.

Match the items of List — I with the
items of List — II and seclect the
correct answer :

List—1 List — 11
(1) Abraham (a) Achievement
Maslow Motivation
Theory

(i) Herzberg (b) ERG Theory

(1i1) Alderfer (c) Two Factor
Theory
(iv) McClelland (d) Need Hierarchy
Theory
Codes :
() G (i) (iv)

(A) (@ (b (¢ (@
B) (d (© ® ()
© © b (@@ @
D) @ (© (@ (O

Assertion (A) : The Central Bank
of the country is responsible to
maintain  stability of the
monetary  standard  which
involves currency circulation

Reason (R) : The Central Bank is
the only authorized entity to do
SO.

Codes :

(A) (A) and (R) both are correct.

(B) (A) and (R) both are incorrect.

(C) (A) is correct, but (R) is
incorrect.

(D) (R) 1is correct, but (A) is
incorrect.

Identify the quantitative credit control
methods among the following :
(1) Bank Rate

(i) Credit Rationing

(i11)) Open Market Operations
(iv) Variable Reserve Ratio

(v)  Selective Credit Control
(vi) Liquidity Ratio

Codes :

(A) (i), (i1), (ii1) and (iv)

(B) (i), (iii), (iv) and (V)

(©) (1), (i), (v) and (vi)

(D) (i), (iii), (iv) and (vi)
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53.

54.

5sS.

AfUFHUT (A) : FHIRT Bl AT HT
SIS, ST bl STURTIST o Tl
T S W HHORET & HomET &
T Y i URHAT & |

%I (R) : HHARET B FEET
FHHH, R ST W HHEmEr
! &THATS qAT AFFATST o eey
AN el oAb FA Dl
LEGIER

ETE

(A) (A) 3R (R) 3H Wl & 3R (R),
(A) ! T&l AT E |

(B) (A) 3R (R) IHI Tl &, == (R),
(A) ! el = TE € |

(C) (A) 3R (R) SHI T € |

(D) (R) Wl & T (A) ToRel € |

FHHANAT o @ed qq G & fou

=T W ey fAfed € 2

(A) i foarg afufam, 1947

(B) et ertufTem, 1948

(C) sf=fes TR (Rrl 3w
ATam, 1946

(D) HHERI garasT i, 1923

I 63 w2 % wreEw 9 et faeen

T

1. 3Nt foems stfuftaaw, 1947 &
3T U Foie ST § |

2. HEed SutEd, 1948 % Sidd
RIS el H @R IHA § |

3. HHRET B G BT I B
% o2, 5o gRT SIS FeheT ot
I MO FEE T SR,
1965 =l 3FHEN-1 | e &1 %
AR HLA§ |

4. T &\ HT WESHE &7 6

(TA) ST 1 3R 2 Wl €, 3 Hel el
tl

(B) @ %Y WEI T |

(C) ot | W ¢, ST E |

(D) Tad | Tom €, o Tl wE |
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56. g — I ® 31 HaT S gE — 11 =l 781

57.

58.

e gAfed i o 2 | Wl SR
T TIT
it - 1 et — 11
(i) oTeY Ol (a) U
AR
s
(i) &srent (b) ERG Tagr=
(iii) TeTSTHT (c) J-FRFH
s
(iv) Hirers (d) STavaH
e g
E T
(i) () (i) (iv)

(A) @ (b)) (¢ (@
B) @ (© b @
© (© ® (@ (@
D) @ (© @ (O

ANTHT (A) : 9T B B S HGH
o T T Feer e €, 3
TR ST T & ol SaRE ¥

HFROT(R) A A o ol A
T T Hsid S & & |

ETE

(A) (A) AR (R) T W E |

(B) (A) 3R (R) SHI TTefd & |

(C) (A) g, W (R) T & |

(D) (R) W&l & W= (A) T & |

frefetad & & aREmTeTs o1 fHa=mo
Tgiaal S TEH T ;
(i) THFT

(i) 0T TR

(iii) el IR FTER
(iv) ORE o= 3Tad
(v) TIATCHSD FOT =0T
(vi) T A

ETE

(A) (@), (i), (iii) 3R (iv)
B) (i), (ii). (iv) & (v)
(©) (). (i), (v) & (vi)
(D) (i), (i), (iv) 3 (vi)
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59.

60.

61.

62.

The following activities are mainly
related to which organization ?

(i)  Micro Finance

(i) Rural Finance

(i1i1)) Self Help Groups

(iv) Cooperative Banks Finance

(A) Industrial Finance Corporation
of India

(B) Ministry of Finance
(C) Reserve Bank of India

(D) National Bank for Agriculture
and Rural Development

PIN in banking transaction is known
as

(A) Postal Index Number

(B) Permanent
Number

Identification

(C) Personal Identification Number

(D) Public Interlocking Numeric

Reserve Bank of India

nationalized on

(A) January 26, 1948
(B) January 01, 1949
(C) January 26, 1950
(D) January 01, 1956

was

When a banking company is placed

under moratorium under Section 45

of the Banking (Regulation) Act,

1949, the RBI must prepare a scheme

of

(A) VRS for staff

(B) Capital Buy-Back

(C) Reconstruction of the company
or amalgamation with any
other bank

(D) IPO of the bank
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63.

64.

Match the following items of List — I
with List —1II :

List — 1 List — 11
(1) SWIFT (a) 1996
(i) NEFT (b) 1988
(111) BASEL I (c) 1973
Accord
(iv) BASEL 1T (d) 2004
Accord
Codes :
@» (@) () (i)

A) @ (b)) (© @
B b (© @ @
© @ © ® @
D) © @ (@ (O

The main features of TRIMS are :
(1) All

capital are imposed.

restrictions on foreign

(1)) No restriction is imposed on

any area of investment.

(iii) Restrictions on repatriation of
dividend is eliminated.

(iv) Imports of raw material is

allowed freely.

(v) No limit on the extent of

foreign investment.
Indicate the correct combination
(A) (1), (i), (iii) and (v)
(B) (i), (ii1), (iv) and (v)
(C) (i), (iv) and (v)
(D) (iv) and (v)
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59.

60.

61.

62.

frefafaa nfafafet qerd: fFe dmeq
T T € 2

(i) g&w o

(i) TTeoT T

(i) o HEET W

(iv) PRI o fod

(A) WG et fom fm

(B) Taxt oo

(C) YRd =g s
my@wwWﬁwﬁwﬁ

a6 @ AR § O (PIN) o1 1w &
(A) UREHA TSHT AR
(B) WHME TS hehe Fax

(C) UETA 3MESITHBHI FoX

(D) UfseT SXATHT JHRH

TRAT N1 o 1 TahaoT g3t o
(A) 26 STERI, 1948 i
(B) 01 SR, 1949
(C) 26 ST, 1950
(D) 01 SR, 1956

AT, 1949 T €RT 45 & S FOT
T % AT @ ST §, o ARAE
Rstel o B AT T 9 FioH darR
FHAT AT

(A) FHAINET % o o 3RTg.

(B) GSit =To &%

(C) w1 qAMHET Ar 3 fendt
S & AT ThIHT

(D) S T T3,

D-08-13
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63.

64.

g — 1 % AT & G — 11 & 7S &

T -1 = — 11

(i) oW (TEI=Y.3ME. (a) 1996
TH2L)

(i) 7% (WIETH)  (b) 1988
(iii) ST 1 T (c) 1973
(iv) S 11 qeiar (d) 2004
E T

@) () () (i)

A) @ (b)) (© @
B) b (© (@ @
© @ © @® @
D © @ (@ O

fom (TRIMS) &t g faeiyard €

() Tocel oot W At ufdey TRt
AT |

(i) o9 & Tl ot & W IS Uiqey
TR AT ST E |

(iii) T & UEaT W ufded
T T @ T E |

(iv) e AT T A W &9 J
foaT ST gehaT & |

(v) Tocet feer = 9 W #E ufdey
el
TEl TS TRy
(A) (). (i), (iii) 3R (v)
B) (i), (i), (iv) & (v)
(C) (i), (iv) 3R (v)
(D) (iv) 3R (v)
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65.

66.

67.

Assertion (A) : TRIPS requires an
understanding about the scope
of the new patent regime.

Reason (R) : Patent protection
will be extended to micro
organisms, non-biological and
micro-biological processes and
plant varieties.

Codes :

(A) (A) and (R) are not related with

each other.
(B) (R) is related with (A).
(C) (A)is independent of (R).

(D) While (R) is related with TRIMS,

(A) is related with TRIPS.

Possible impact of WTO on various
aspects of the Indian economy :
(1)  Quantitative restriction will be

allowed.

(i1)) Second hand cars will be
imported.

(111) There will be dumping of
Chinese goods.

(iv) Increase in population.

(v)  Child labour exploitation

(vi) Unemployment will increase
Which combination is appropriate ?
(A) (), (i), (iii)

B) (iii), (iv), (v)

(©) (i), (ii1) & (vi)

D) (1), (v) & (vi)

Assertion (A) : Economic
integration abolishes cross-
national economic
discrimination.

Reason (R) : Geographical
proximity is an important
reason for economic integration.

Codes :

(A) (R) does explain (A).

(B) Both (A) and (R) are correct.

(C) Both (A) and (R) are not correct.

(D) (A) is correct, but (R) is not
correct.

Paper-111
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68.

69.

Match the items of List — I and items

of List — II and select the correct

answer :
List -1 List — 11
(1) Free Trade (a) MERCOSUR
Area

(i) Customs (b) European

Union Union
(ii1) OEEC (c) EFTA
(iv) Common (d) Marshall

Market Plan
Codes :

@» (@) () (iv)

(A) @ ) (© (@@
B) (b) (@ (@ (©
©) () (@ (@ (b)
D) @ © b @

Assertion (A) : A futures contract

specifies in advance the
exchange rate to be used, but it
is not as flexible as a forward

contract.

Reason (R)

is for specific currency amount

: A futures contract

and a specific maturity date.

Codes :

(A) (R) is a correct explanation of
(A).

(B) (R) is not a correct explanation
of (A).

(C) (A) and (R) are not related with
each other.

(D) (R)is irrelevant for (A).
D-08-13



65S.

66.

67.

At (A) : foo@ &1 g U= vomedt
& T % IR H TSR
SITIHAT € |

HWROT(R)  :UST G0 Qoo i,
ST T GeH ST wishanat
3T Uiy fepert ek faeanid &rm |

%

(A) (A) 3T (R) Th TH F T4
FE |

(B) (R), (A) % 91 T4 & |

(C) (A), R)F@THT |

(D) S@F (R) & &Y o=
(TRIMS) & @ &, (A) fow @
et & |

IR seieaen & fai= Jeefstt W

Tove AR |ISA T FHIEd U9

()  URETOTCHS Fidee TR ST Geh |

(i) TR PRI AT AT S

(i) <A SRS W TN MM H
e fear ST |

(iv) SHIETH gtF |

(v) SToT S T IO |

(vi) SUSTIRY @ gig et |

I A GIS TG € 2

(A) (), (i), (i)

(B) (i), (iv), (v)

(C) (i), (iii) 3T (vi)

(D) (iv), (v) 3R (vi)

ATUHU (A) : 3TMIF THIFOT TLT &
et 2T ST T S e el
T

HROT(R)  : 9t Fehear amias
THIHT & {18 STe9ae HROT & |

ETE

(A) (R), (A) ! AT FATE |

(B) (A) AT (R)SHI TN T |

(C) (A) 3R (R) I W& T & |

(D) (A) Tl & W (R) W FT € |
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68.

69.

g — [ § St 0&t 6t g — 11 & 951 &

Ty AT Y AT A KT F2 ¥ T
T I B
T -1 =t - 11
(i) WATAUR  (a) FHGIYMER
COSUR
(i) FH-3es 99 (b) TWHET §9
(iii) SMEEE, (c) SURAT,
(OEEC) (EFTA)
(iv) FEA GRS (d) AR ASHET
ETE
(1) (@) (i) (@(v)

A) @ (b)) (© @
B b @ @ (©
© © @ (@ O
D) @ © b @

afirper (A) : wret dfesr, et
T FH IUF fHar ST 39 vee
2 3ooRE R Il §, TR T8 3ol
T T8 g & S 5 ars
e |

HROT(R) 9@ Flagr  gHed
FH AT SR e afaeear
fofer o fetw gt & |

(A) (R), (A)H TE AT |
(B) (R), (A) ! T&l = F&i & |

(C) (A) ¥R (R) T W % ™
ety e E |

(D) (R), (A) % o0 sEiT € |
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70.

71.

72.

Out of the following, which are the

important objectives of IMF ?

(i) To promote exchange rate stability

(i1)) To create standby reserves

(ii1) To print International currency
notes

(iv) To establish a multilateral
system of payments.

(v) To maintain orderly exchange
rate stability

(vi) To create employment

Codes :

(A) (i), (iv), (v), (vi

(B) (iii), (v), (Vi

(©) (), (i), (i), (V)

D) (@), (i), (v), (vi)

Given that :

Fair rent of a let out house property
is ¥ 75,000. Its Municipal value is
3 60,000, standard rent is ¥ 72,000
and actual rent received is ¥ 63,000.
What is the Gross Annual Value of
this house property ?

(A) 60,000 (B) 63,000
(C) 72,000 (D) 75,000

Match the items of List — I with the
items of List — II
List—1

(1) Amount deposited
in PPF

(1) Profits and gains
from undertakings
engaged in
infrastructure
development

(ii1) Contribution to
National Defence
Fund

(iv) Profits and gains by (d) 80-C
an undertaking
engaged in the
development of
Special Economic

List — 1T
(a) 80-TA

(b) 80 G

(c) 80-IAB

Zone
Codes :

(i) () (@) (iv)
A) (@ () () (2)
B) (d (@ (@) (o
(€©) (d (a (c) (b)
D) ®) (@ () (@

73.

74.

75.
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Which of the following deductions
will not come under Sec. 80 of the
Income Tax Act ?

(A) Deduction in the case of a
person with disability

(B) Deduction for interest paid on
loan taken for pursuing higher

education

Deduction for interest on loan
taken for the construction /
purchase of house property

©

(D) Deduction for repayment of
any instalment of principal
amount borrowed for the
purchase / construction of

house property

X purchased a land in the P.Y. 1997-
98 for ¥ 50,000. This land was sold
by him during the P.Y. 2009-10 for
3 8,00,000. The fair market value of
this land on 1-4-81 was ¥ 1,20,000. If
the Cost Inflation Index for the A.Y.
2010-11 1is 632, his capital gain for
the A.Y. 2010-11 will be

(A) % 4,84,000
(B) % 7,50,000
(C) % 6,80,000
(D) ¥ 41,600

Any amount of money received in
excess of ¥ 50,000 without
consideration is fully taxable in the
hands of

(A) Individuals

(B) Individuals and HUF

(C) Individuals, HUF and Company
(D) All assessees
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o oo

70. STEUAUE, & Tewdqul 3e¥d fTeEd
T FME?
() Tafm= g7 = TeRdr =i seEr & |
(i)  STOTaTET RSre et S |
(iii) ST I A qisd BT |
(iv) TG PIA FOTCA T T |
(v) =arem fafFma s @ ferar

T TG |

(vi) TSR GiSTd ST |
E
(A) (i), (iv), (v), (vi)
(B) (i), (v), (vi)
©) @), (i), (iv), (v)
D) (@), (i), (v), (vi)

71. 9H o T R W &3 T Her wwi
F Stad fmEr T 75,000 € 1 ST
TR god ¥ 60,000 &, WHTT foRran
¥ 72,000 & 3T U ardfees fHmEn
Z 63,000 & | 39 M HHT 6 Fhed

aNftreh goor . & 2
(A) 60,000 (B) % 63,000
(C) 72,000 (D) % 75,000

72. gEt — 1 & A @ g — 11 & 6E 6
Wgﬁ%ﬁaﬁ'
T -1
(i) PPF ® ST i Tt
T

= — 11
(a) 80-I1A

(i) STURYT TFAT %
forehT T o UiasaHT
T T UE WIar |

(iii) g e Aty o
RIUCES

(b) 80G

(c) 80-IAB

(iv) faeie snfaes it & (d) 80C
forehT © o Wi
ST Y TS Tt
%

(=N

(1 (@) (i) @[1v)
A d (© b @
B) d @ @) (©
© @ @ (© O
@ ® @ (© (@

73.

74.

75.
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frfafea 9 9 *i9 9 FHeiraar Eea
AT B GRT 80 & ST el B 2

(A) TIfesT safa % T |

(B) =a RmaT W FA &q o ™
FOT W AN F A g
I |

(C) & T & FEusT wH Eq
f ™ W A % g
Tra FHerr

(D) T g & MR 11 '
o T 7o or B e o A
W FH2d

X’ AT a9 1997-98 § T 50,000 | g
TR | T g\ & T a9 2009-10
% 8,00,000 H &9 4T | 1-4-1981
3T H M 3Fad IR 7o T 1,20,000
o | afg FY FERT av 2010-11 § AW
TRITT G 632 &, of B FEROT a9
2010-11 T ST USITT AT €17

(A) T 4,84,000

(B) ¥ 7,50,000
(C) ¥ 6,80,000

(D) 41,600

T 50,000 & ek g off Tier fomm fomet
115 oo e e e M ) e o e ) s
aggqaqugﬁ

(A) =R

(B) = TF feg aAforard IRaR

(C) =&, &g sfawed uRar o
FHEAT

(D) ot T
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